Model Paper for Girls Cadet College Test: Stage 2 Short Q & A (Each Question is of 1 Marks)
Time Allowed for Stage Two: 1 Hour

1. Covert the following active voice into passive voice.
Active Voice: He Draws a Map.

Passive Voice:

2. The synonym of the word pleasant is

3. The definition of personification is:

4. The word ‘ancient’ means:

5. Use the word “Anyone” in your sentence:

6. Third degree of Adjective is

7. ldentify the sentence type: “Why are you late?”

8. Define the common analogy: “He is like a rock:” This means he is

9. Convert the direct Speech into indirect speech:
Direct: He says, ‘l am Happy'.

Indirect:

10. When the subject of the sentence is acted upon, the verb is in the

voice.
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1 | In humans and other animals, the
process of conversion of large and
complicated compounds of food into
the simplest and diffusible components
is called
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2 | Describe the process of breathing.
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3 | The heartbeat of a healthy person is
times per minute.

4 | Describe the working of root hairs.
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5 | Name any plant in which pollination
takes place by water.
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6 | Write the names of two primary
consumers.
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7 | Name two harms of acid rain.




Model Paper for Girls Cadet College Test: Stage 2 Short Q & A (Each Question is of 1 Marks)

Time Allowed for Stage Two: 1 Hour

a set can be expressed.

8 | How many atoms are present in one sl & u’u';.,':—:'l--{iiil;
molecule of water?
9 | Carbon dioxide and water are - .
Ll AL &z dnl Nl Tt 2 0 AL
produced in addition to heat during Ll U g-Unlg __,‘r;.,'p._,,}k,,u_,pr’w,ur,_ el L“;"
burning of natural gas. This chemical ';‘""L:’EJ:?L‘“*""'“
process is represented by the following PR i . =
equation. dordwr + el ——  FT 4 T
Methene + Orjoen ——> CarbonDioide + _ + HeatEnergy
x | Some people wear black-coloured ?VI,;';,;:E?_;'g_,j;":ii-:‘;vi,_,-;j_;x._:f'
clothes in winter. Tell why?
1 | IfA={1,2,3,4} and B={2,4,6,8} 5 " A
e & A N BIxB={2,4,6,8) 4 A={1,2,3,4} /I
then find :
2 | Name the three forms in which I} el
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3 | Simplify -iﬂ'ﬁ;l‘;l‘ E,_,FEEJ:
, 2,1
353 P

4 | Simplify e A e it
_xl_] Exﬂ
512 5 12

5 | Convert 0.12 to rational

number

&St 012

6 | Find the value of

_Figur*ug r_.-"ﬂ'*L"'l,., g_,z'.!
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7 | Solve oS =
-
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8 | Solve oS =
3x + 6x -8x -x + 2x 3x + 6x -8x -x + 2X

9 | Acartravels 540 kmin 6 hours. | 9 Sasee ) S 58— S8 b 4ulS 2. dSH40 e S 6 S S
find the speed of the car?

10 | Add - UL S i
2% + Tx+8and 52 + 3x + 3

2%* + Tx + 8 and 5x* + 3x + 3




